
＜　　年   月   日＞

⑩ x2  7x7x  1212
　 x  3x  4

⑨ x2  14x14x14x  4949
　 x  72

⑧ x2  2x2x  1515
　 x  3x  5

⑦ x2  3636
　 x  6x  6

⑥ 30x30x30x2  5xy5xy5xy
　 5x5x6x6x  y

◆因数分解せよ。　

⑤ x  32

　 x2  6x6x  9

④ x  3x  5
　 x2  8x8x  1515

③ x  5x  5
　 x2  2525

② x  6x  5
　 x2  x  3030

① 6a6a3x3x  2y2y
　 18ax18ax18ax18ax  12ay12ay12ay12ay

◆展開せよ。　

氏名

３年「展開・因数分解」1

３分間復習

＜　　年   月   日＞

⑩ x2  7x7x  1010
　 x  5x  2

⑨ x2  16x16x16x  6464
　 x  82

⑧ x2  2525
　 x  5x  5

⑦ x2  x  4242
　 x  6x  7

⑥ 35ac35ac35ac35ac  15bc15bc15bc15bc
　 5c5c7a7a  3b3b

◆因数分解せよ。　

⑤ x  3x  2
　 x2  5x5x  6

④ x  4x  4
　 x2  1616

③ x  92

　 x2  18x18x18x  8181

② x  3x  7
　 x2  4x4x  2121

① 7a7a5a5a  2b2b
　 35a35a35a2  14ab14ab14ab14ab

◆展開せよ。　

氏名

３年「展開・因数分解」2

３分間復習

＜　　年   月   日＞

⑩ x2  9x9x  2020
　 x  5x  4

⑨ x2  4
　 x  2x  2

⑧ x2  4x4x  2121
　 x  4x  7

⑦ x2  12x12x12x  3636
　 x  62

⑥ 42x42x42x2  35xy35xy35xy35xy
　 7x7x6x6x  5y5y

◆因数分解せよ。　

⑤ x  12

　 x2  2x2x  1

④ x  1x  3
　 x2  4x4x  3

③ x  8x  6
　 x2  2x2x  4848

② x  3x  3
　 x2  9

① 8m8m5a5a  2b2b
　 40am40am40am40am  16bm16bm16bm16bm

◆展開せよ。　

氏名

３年「展開・因数分解」3

３分間復習

＜　　年   月   日＞

⑩ x2  10x10x10x  2424
　 x  6x  4

⑨ x2  6464
　 x  8x  8

⑧ x2  6x6x  9
　 x  32

⑦ x2  2x2x  6363
　 x  7x  9

⑥ 24am24am24am24am  4bm4bm4bm
　 4m4m6a6a  b

◆因数分解せよ。　

⑤ x  7x  7
　 x2  4949

④ x  4x  2
　 x2  6x6x  8

③ x  42

　 x2  8x8x  1616

② x  4x  6
　 x2  2x2x  2424

① 6x6x5x5x  4y4y
　 30x30x30x2  24xy24xy24xy24xy

◆展開せよ。　

氏名

３年「展開・因数分解」4

３分間復習

【解答】


